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% # s - BRHE By B il & & 1

BRI 12,102, 260 + 251,858 12,354,118
EEAGE 12,102, 260
EERE 251, 858
Z DR 12,102,260 x 53.85% ( 35% = (1 — 35%) ) 6,517, 067
SRR 12,354,118 + 6,517,067 18,871,185
—REEEE 18,871,185 x 53.85% (35% + (1 — 35%) ) — 3,318 10, 158, 815
KBS 18,871,185 + 10, 158, 815 29, 030, 000
B FEZET 29,030,000 x 10.00% 2,903, 000
EBERREM 29,030,000 + 2,903,000 31,933,000
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) R Big - MAKTHE Bl % 8 B & i) Hm =
BRI 12,354,118
METARE 75 12,354,118
BRI 12,354,118
EEAGE 12,102, 260
ETEE R 433, 500
1 EHEEEE 1.00 433, 500 433, 500
=
IR E 10, 279, 400
2 BIAEDRE 1.00 3, 729, 600 3,729, 600
=
3 HIEEHE 1.00 1, 093, 000 1,093, 000
=
4 HEERK 1.00 1, 440, 200 1, 440, 200
=
5 MEHHE 1.00 1, 043, 200 1,043, 200
=
6 METEEHEE 1.00 756, 900 756, 900
=
T ITERER 1.00 1,061, 700 1,061, 700
=
8 A HMER 1.00 1, 154, 800 1,154, 800
=
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) R Big - MAKTHE Bl % 8 B & i) Hm =

i - |E 563, 000

9 EATHRE 1.00 121, 800 121, 800
]

10 SRR E 2.00 121, 800 243, 600
]

11 &RRI|E 1.00 197, 600 197, 600
]

BE 353, 460

12 B& 1.00 353, 460 353, 460
=

R 472, 900

13 EHTERREER 1.00 453, 700 453, 700
=

14 AFRARERER 1.00 19, 200 19, 200
=

EERE 251, 858

EBRARE 111, 858

15 EHRARE 1.00 111, 858 111, 858
=

EHREMRE 140, 000

16 ¥BHERE 1.00 140, 000 140, 000
=
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HEE
A 1.00 75, 800. 00 75, 800
X A (%3
A 1.50 64, 800. 00 97, 200
BE (A)
A 2.50 57, 000. 00 142, 500
BET (B)
A 2.50 47, 200. 00 118, 000
& it YEZERED 1. 00K 433, 500. 00 433, 500
BE 2
&% I A EOBRE % (1=%)
2 7 1B - IR B ¥ = B i w =
F AR (BED
A 13.50 64, 800. 00 874, 800
e (A)
A 18. 00 57, 000. 00 1, 026, 000
e (B)
A 18. 00 47, 200. 00 849, 600
HEm (C)
A 22.00 38, 400. 00 844, 800
Biia
A 4.00 33, 600. 00 134, 400
=) 5 YEZEREN : 1.00 3, 729, 600. 00 3, 729, 600
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£ [ R - KT B = B {f € ® W E w =
F{EHRAm GRED
A 0.70 64, 800. 00 45, 360
HEm (A)
A 3.00 57,000. 00 171, 000
HEm (B)
A 8.20 47, 200. 00 387, 040
HEh (C)
A 8.20 38, 400. 00 314, 880
i &
A 5.20 33, 600. 00 174,720
& B 1EZRERN  1.00K 1,093, 000. 00 1,093, 000
=S4
& REERK 14y
% b R - KT B = B O{f * % W E H %
HER (A)
A 1.00 57,000. 00 57,000
HER (B)
A 5.00 47, 200. 00 236, 000
HER (C)
A 11.50 38, 400. 00 441, 600
Hiftg
A 21.00 33, 600. 00 705, 600
& B 1E%8ESN : 1.00=C 1, 440, 200. 00 1,440, 200
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% L] R - KT B = B @ € ¥ W E g &
HER (B)
A 4.00 47, 200. 00 188, 800
HER (C)
A 6.50 38, 400. 00 249, 600
Hiff&
A 18.00 33, 600. 00 604, 800
= B YE¥REH 1,00 1, 043, 200. 00 1,043, 200
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HEm (A)
A 4.50 57,000. 00 256, 500
HEm (B)
A 4.50 47, 200. 00 212, 400
HEh (C)
A 7.50 38, 400. 00 288, 000
& B 1EZRERN  1.00K 756, 900. 00 756, 900
Es:1
B ITRRRIER 14y
% b R - KT B B = B O{f * % H %
FEHAR (F%E)
A 4.50 64, 800. 00 291, 600
HER (A)
A 4.50 57,000. 00 256, 500
HER (B)
A 6.00 47, 200. 00 283, 200
HER (C)
A 6.00 38, 400. 00 230, 400
& it 1E%8ERH : 1.00=C 1,061, 700. 00 1,061, 700
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% L] R - KT ==Rivi B = B @ € ¥ g &
FEHAR (F%E)
A 4.00 64, 800. 00 259, 200
HER (A)
A 6.00 57,000. 00 342,000
HER (B)
A 4.00 47, 200. 00 188, 800
HER (C)
A 6.00 38, 400. 00 230, 400
Hiff&
A 4.00 33, 600. 00 134, 400
= B YE¥REH 1,00 1, 154, 800. 00 1,154, 800




R &I/ \vr—2

5.9
&% EfiRE

ERESFETRMhES

X4y (d[@E)

b3 B - BIKTE =-Fiv] = B i ] w =
F{EHRAm GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57,000. 00 57,000
& Hi 1YEZRER : 1.00[E 121, 800. 00 121, 800
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b R - KT BT 2 B O{f 2 H %
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it 1EZ8EH : 1.00[E] 121, 800. 00 121, 800
&5 . 11
27 REBE 1XHY (1[E)
b R - KT BT 2 B O{f 2 H %
HEnE
A 1.00 75, 800. 00 75, 800
FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57,000. 00 57,000
& it YEZERES : 1.00[E 197, 600. 00 197, 600
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A 2.20 64, 800. 00 142, 560
BE (A)
A 3.70 57, 000. 00 210, 900
& it YEZERED 1. 00K 353, 460. 00 353, 460
&S 13
2 EBEERREER EE L)
2 7 1B - IR B B B i w =
F AR (BED
A 1.50 64, 800. 00 97, 200
e (A)
A 2.50 57, 000. 00 142, 500
e (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.50 38, 400. 00 96, 000
=) it YEZEREN  1.00=K 453, 700. 00 453, 700
=14
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HEm (C)
A 0.50 38, 400. 00 19, 200
=) 5 YEZEREN : 1.00 19, 200. 00 19, 200
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4 b R - KT B = B i £ i
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= 1.00 111, 858.00 111, 858
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&% EBHRERE X5y
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& Hi 1EZRERN  1.00K 140, 000. 00 140, 000




